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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five of the following: 1x5=5

e @@ #invfe aniw Tex we ¢

a)

b)

d)

What is the meaning of I9&d in the sutra
“qE: TwE:?

“ga: g’ e TvE A O e
Give an example of FHTUT T2,
T2 G Trizae M |
Give the definition of aTftie.
A= o759l 7 |

Name any two renowned western linguists.

AHBITIR 2T W2 ORIl 71 @14 |

[Turn over]

g)

h)

Give an example of Anaptyxis (TR¥ftF) in
Sanskrit.

S FASTSH GFH SRR 7S |
Give an example of 0! Igefi |

30 volfF G TwERe wie |

What is meant by ‘Afemgii<eremma:’?
‘Afemeiemmma:” e F @R ?
Give an application of Grassmann's law.

AP a9 @b G @S |

Answer any ten questions of the following:

2x10=20

T @ Wi drew Tex wie ¢

a)

b)

105(A)

Give an example of Assimilation and

Dissimilation in Sanskrit.
AGCS e ¢ RATeI-93 Tnizae 7S |

Account for the case-ending in the

underlined word;:

T @afEs oo srs-fRefe Wi 3¢
EEREIRRINEDC(

Explain the formation of the compound

gfYiam with reference to relevant siitras.
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d)

g)

h)

105(A)

ARG TG GHem > stonefe=l it
4|

Explain the word TwgHY citing the relevant

sutra .
g SESET M * (W TR F9 |

Give an example of fifth case-ending in

accusative and locative cases.
IGF ¢ e A9l Refea Srigad me |
Give two examples of Grimm's law.

Merx wierPeas vt Srizzel wie |

What is meant by phonetic law? What is
Haplology?

R T & @RI 2 ANFT @9 2

Account for the case-ending in the

underlined word :
T @ufEe e sre-Refe Fd@ 59 ¢
UTeuTd derd I |

Explain the formation of the compound
‘y@@ft:” with reference to relevant siitra.

RS gz aafar:’ == sl e
AR RS |

[3] [Turn over]

) Why is JTehd¥T™T so called? Write the name
of a text written in YTehd language.

AFe SR NP WA F? @B SRR
e 9SH 2T T &L |

k) Correct or justify: HHFIEIEI FEEH .

TGO FEEy — 2ol wa [l
3|

1) Give an example of sixth case-ending in

Accusative and Genetive cases.

¢ I TS WIefed Tugd we |

3. Answer any five of the following questions:

6x5=30
T - s areg Teg we ¢

a) Write a short note on the morphological

features of old Indo-Aryan language. 6

Ad oo e wrelfes @REF
e A Bl @12 |

b) State the implication of any one of the
following: 6

THF @I @F6F Siesd @9 2
i) ofa fr! afga w1 @l
ii) TR desh-augo |
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d)

Explain the following sutra : 6

N @ I A
qreehad RO OR - 39IUTH! HHATT |

Account for the case-ending in any three

of the following underlined words: 2x3=6

e @@ o e @rifee st s
frefe a9 ¢

i) o7 Fg: T ged: |

i) O Rl T eS|

iii) o vfgeh|

iv) HfcRe sTeTg TR

V) SN JHE 9
Or / =193t

Write short note on :

kY Bl @14 -
Iquefafts Or d&gdl

e)

105(A)

Account for the case-ending in any three

of the following underlined words: 2x3=6

e @@ ool @eifEe som sas-
fTefe @da 9 ¢

i) ift7 geherel 7a@: |
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ii) <fio geaTfsmem = g |

iil) ASRHA =Ml |

iv) TeBfd HId |d it s |

v) foouer vaga: smsfa @ra: |
A

Explain the formation of the compound with

relevant sitras: (Any two) 3x2=6

Toige gz oo afe e 79 ¢ (@@

%)

JoTeHy, A, Tares:, Uad |

f) Discuss in brief the phonological features
of Old-Indo-Aryan (OIA) language with apt

examples. 6
b Sl oI T @ielfes @ e
THRROPTR, FLCHCA ST 9 |

2) Explain any one of the following sitra: 6

57 @@ @FH g T 9 8

i) gagURISIEEY |
ii) TRHvEATER fovmswony |
iii) @ daemfd &y |
h)  How doesg;: differ with 3uM? Explain with
examples. 6
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(2T 8 FAER T A1 a2 Tnrzgerz
IR <4 |

Answer any three of the following questions:

15%x3=45

T - foaqls vz Tex wie ¢

4.
a)
b)
c)
105(A)

Discuss the difference between vedic and

classical Sanskrit with examples. 15

AT ¢ @ AGrea AT TuRArE
IO <4 |

What is meant by HHIS=HE? What is
meant by 3ITFIT? Give the difference
between  wHYSEH  and  39EA with

examples. 4+4+7=15

I o100 T @R e Tomsf Tece
@R ? Toe @ THLIBAIED W& 2N
TR (@12 |

Mention the names of the language of
Dravidian language family. Show the
influence of non-aryan languages on
Sanskrit. 3+12=15

7RG SRDR SRielkE a% @< Ao
S 8917 RO ST &SI D 9 |
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d)

105(A)

Explain the principal definition of 1f&retur-
% with special reference to the features
of term ‘YR’ | What are fearftor gwadft and
Ao wwH ? 10+5=15

I * A G RO 171513 e ia-
@3 eI G SETE 39 | e Aedt @3k
SRR ALY FECS (@R 2

What is gfd:? Mention and illustrate the
different varieties of gfa: | Explain fully
the concept of IUHSI in THA |

4+6+5=15
e Fe Jfex [ion elm TP @19 |
T Gorrere 9l feim e 54



